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A knot diagranﬂ
Ideals for irreducible component#ﬂ)f Xpar
(Bud? —3u® 4 -+ 20 -3, =5 +8u* + -+ 2a + 5u, vt — 30 4+ — 1207 + 1)

=
I =(—au+b, a®* —a+1, u> +u—1)

* 2 irreducible components of dim¢ = 0, with total 35 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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I. If =
(8u3°—3u?%+-...4+2b—3, —5u3°+8u??+...4+2a+5u, w3t —3u30+...—12u2+1)

(i) Arc colorings

1
aio = \0
1
a1l = —U2
U
as = \ —ud +u
—u?+1
ar = \u*—2u?
%u30—4u29+~--+12—1u2—§u
ar= \ 34304 342 4 ... —u43
—u
aeg = U
—§u3°+u29+~-~—§u+1
a5 = %u:ao §u29+~ +17u2 é
—u?+1
a9: U2
—%u?’o +5u? + -+ %u +4
as = %7”30_ 221u29+ —4u—%
930 4 3u29Jr %qu%
az =\ 4u® —5u?® + 2u — 2

=200 4 3 = Byt D
az = 430 —5u2% 4. — 20— 2

(ii) Obstruction class = —1

(iii) Cusp Shapes = 2% —8u* + .-+ 3lu+9



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W3+ A —1
C2,C5 w4+ 9u0 4 120 — 1
c3,Cs W+ uP0 4 =200 + 16
Ce, C7,C9 u31 73U30+"'7 12U2+1
€10, C11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,¢4 P49y 412y — 1
C2, €5 vt +29y%0 + - 4+ 524y — 1
c3,C8 y3t — 25030 + ... 4+ 640y — 256
C6,C7,C9 y31—43y30+~~+24y71
€10, C11




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.979024 4 0.1447581
a= 0.831915 + 0.0900721
b= 0.119170 + 0.7112081

2.01140 — 3.463531

11.93946 + 5.357341

u = —0.979024 — 0.1447581
0.831915 — 0.0900721
b= 0.119170 — 0.7112081

a =

2.01140 + 3.463531

11.93946 — 5.357341

u = 1.077390 + 0.0546341
a= 0.229000 — 1.2839701
b= —0.36400 + 2.477191

4.65693 + 2.796001

13.44598 — 3.145611

u = 1.077390 — 0.0546341
a= 0.229000 + 1.2839701
b= —0.36400 — 2.477191

4.65693 — 2.796001

13.44598 + 3.145611

u = —1.11047
a = —1.03356
b= 0.559359

5.42058

16.8260

u = —1.127600 + 0.3757071
a= 0.299700 — 0.7758411
b= —0.43314 + 2.138631

9.18803 — 8.599671

14.1525 + 6.51121

u = —1.127600 — 0.3757071
a= 0.299700 + 0.7758411
b= —0.43314 — 2.138631

9.18803 + 8.599671

14.1525 — 6.51121

u = —1.174380 + 0.3298031
a = —0.642970 + 0.7903511
b= 0.82679 — 1.901551

9.85498 — 2.401221

15.3857 + 1.44391

u = —1.174380 — 0.3298031
a = —0.642970 — 0.7903511
b= 0.82679 + 1.901551

9.85498 +- 2.401221

15.3857 — 1.44391

u = 0.422649 + 0.6293531
a = —1.064760 — 0.2480381
b= —0.493860 — 0.6737751

4.80361 — 0.890951

12.16176 — 0.456641




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

u= 0422649 — 0.6293531
a = —1.064760 + 0.2480381
b= —0.493860 + 0.6737751

4.80361 + 0.890951

12.16176 4 0.456641

0.348369 + 0.6557371
a= 1.28503 + 0.627801
b= 0.291890 + 0.5785421

4.57379 + 5.076551

11.28457 — 5.758931

u= 0.348369 — 0.6557371
a= 1.28503 —0.627801
b= 0.291890 — 0.5785421

4.57379 — 5.076551

11.28457 4 5.758931

u = 0.698660 + 0.2092111
a= 0.266260 — 0.2313041
b= —0.762190 + 0.4570781

0.456932 + 0.4620871

9.00639 — 0.866801

u= 0.698660 — 0.2092111
a= 0.266260 + 0.2313041
b= —0.762190 — 0.4570781

0.456932 — 0.4620871

9.00639 + 0.866801

u= 0.099887 + 0.3921481
a = —0.03361 4 1.673551
b= 0.443597 4 0.1828431

—1.25989 + 1.714841

2.62221 — 5.712381

u= 0.099887 — 0.3921481
a = —0.03361 — 1.673551
b= 0.443597 — 0.1828431

—1.25989 — 1.714841

2.62221 + 5.712381

u= 0.394527

a= 0.563421 0.662850 15.1240

b= —0.451465

u = —1.63009 + 0.035371

a = —0.815204 — 0.9323581 8.61876 — 1.242181 0
b= 1.04001 + 1.191471
u = —1.63009 — 0.035371

a = —0.815204 + 0.9323581 8.61876 + 1.242181 0

b= 1.04001 — 1.191471




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= —0.268160 + 0.1024851
—0.10435 + 2.928001
0.250893 + 0.7016191

0.38814 — 2.235061

1.04827 + 4.752171

—0.268160 — 0.1024851
= —0.10435 — 2.928001
0.250893 — 0.7016191

0.38814 + 2.235061

1.04827 — 4.752171

1.72918 + 0.033411
= 0.219808 — 1.0290001
—0.95945 + 1.468321

11.77940 4 4.155541

1.72918 — 0.033411
0.219808 + 1.0290001
—0.95945 — 1.468321

u
a
b
u
a
b
u
a
b
u
a
b

11.77940 — 4.155541

u = —1.75006 + 0.013461
a = —0.27253 — 3.192991
b= 0.33934 + 4.041961

14.9045 — 3.07851

u = —1.75006 — 0.013461
a = —0.27253 + 3.192991
b= 10.33934 — 4.041961

14.9045 + 3.07851

u= 1.75654
a= 0.528132
b = —0.0669841

15.8245

= 1.76039 + 0.100951
—0.77692 — 2.652141
0.57757 + 3.628831

19.5055 + 10.63861

1.76039 — 0.100951
—0.77692 + 2.652141
0.57757 — 3.628831

19.5055 — 10.63861

1.77250 + 0.083811
= 1.04963 + 2.239831
= —0.89708 — 3.044231

U
a
b
U
a
b
U
a
b

—19.0119 + 4.18701




Solutions to I} v—1(vol + v/—1CS) | Cusp shape
uw= 1.77250 — 0.083811
a= 1.04963 —2.239831 | —19.0119 — 4.18701 0

b= —0.89708 4 3.044231




II. I¥ =(—au+b,a®*—a+1, u> +u—1)

(i) Arc colorings

ag —

as =

asz =

ag —

(
(

(
-
w= (o)
(
(
(
(
(

au + a
ag = 0

(ii) Obstruction class =1

(iii) Cusp Shapes = —2au + 3a + u + 12



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
2 2
€1,C2,Cs5 (" +u+1)
C3,Cg u4
€4 (u? —u+1)2
ce, C7 (u? —u—1)2
2 2
€9, €10, C11 (v +u—1)
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,Cyq (y2+y+1)2
cs
C3,C8 314
Cg, C7,C9 (yQ _ 3y + 1)2
€10, C11

11



(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape

= 0.618034
= 0.500000 + 0.8660251 0.98696 — 2.029881 13.50000 + 1.527611
= 0.309017 + 0.5352331

= 0.618034
= 0.500000 — 0.8660251 0.98696 + 2.029881 13.50000 — 1.527611
= 0.309017 — 0.5352331

= —1.61803
= 0.500000 + 0.8660251 8.88264 — 2.029881 13.5000 + 5.40061
= —0.80902 — 1.401261

= —1.61803
= 0.500000 — 0.8660251 8.88264 4 2.029881 13.5000 — 5.40061
= —0.80902 + 1.401261

12



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
“ (W +u+ 1)) + 303 + - 4 4u—1)
c2,Cs (u? +u+ D)W + 9630 + - 4 12u — 1)

¢s, Cs ut (w3 4+ w0 + - — 20u? + 16)
¢4 (u? —u+ 1)) +3u® + - 4+ 4u —1)
Cs, C7 (u? —u—1)H W —3u® + .- — 120 + 1)
€9, €10, C11 (u* +u—1)H W =3+ —12u% + 1)

13



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1s ¢ (P +y+ D)@+ 9™+ +12y — 1)
ca, ¢ (12 +y+ DA +299%° + - + 524y — 1)
c3,C8 Y (P — 25y%° + - 4 640y — 256)
6,7 €0 (v =3y +1)*)(y*" —43y™ + - + 24y — 1)
€10, €11

14



